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ECONOMICS

[HONOURS]
Paper : 11
Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

[Use separate answer-script for each Half.]

FIRST HALF
~ (Statistics)
(Marks : S50)
1. Answer any four of the following questions:
2x4=8
A @I B QeT Ted WS
a) Find out the value of standard deviation for
first » natural numbers.
g n-fb FeRe MYy AN ALHT WA AR
<Fq
b) Show that AM.xHM.=(GM)* for n = 2
e @ AMXHM=GM)? 334 n = 2.
c¢) What iS Lorenz curve?

eTRAG ( FIE AT 2

[Turn over]

d) Mention the different parts of a statistical
table.

43 wfeRae JaR [(fes sorefs Saw 391

e) Distinguish between class limits and class

boundaries.
@A A 8 @F AN Wy ALy 91

f) If two intersecting regression lines are X =
5+0.8Y and Y = 8+0.2X, what is the value

of correlation coefficient between X and Y?

T s @2 T 9 9 S @i X =
5+0.8Y 9} Y = 8+0.2X WiFgE X € Y @3
T ol & 2Re

2. Answer any three of the following questions:

6x3=18
Ava FT-@A foxB 2rdg Teg s ¢

a) Derive the angle between two regression
lines. What will happen if r=+] and » = 0?
4+2=6
9t Weam iz W Ao AW I I =]

R r =0 W oA & A2
b) Show that if X, and X, be the means of two
sets of values, then the composite mean (X)

lies between X, and X,.
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d)

@e @ 76 1R e W IWEE X, GR X,
T o AYfE g (X) @@ X, 4R X, ¢
T A |

Prove that —1<r, <1 where r, is the

correlation coefficient between two variables
x and y.

g ¥4 @A -1<r, <1 @ 1, T X AR y
vl SeRIE W R o |

Find out the two missing frequencies for the
following frequency distribution, given that
x=11.09.

X=11.09 (e A e »feray Reres
g o el oiferae 97 991

A A=

Class Limit : 9.3-9.7 9.8-10.2 | 103-10.7 | 10.8-11.2

s

Frequency : 2 5 f 17

ar

Class Limit : [11.3-11.7] 11.8-12.2| 12.3-12.712.8-13.2{ Total

sifran

Frequency : 14 f 3 1 60

€)
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i)  What do,you mean by dispersion?
ii@i\'ﬁ JI A=

[3] [Turn over]

i1y Suppose a variable assumes the values

'a' and 'b' and (n—2) other values all equal

a+b
to ( 5 ) Find the standard deviation.

«Fh HAEI @YW 16 WW 'a' ¢ b 9w A

(n-2) Weefe (Ez—b) g A A | HEHOR
A ofefey Nl =) 1+5

3. Answer any two of the following questions:
12x2=24
T @I 7o desm Tew wS 2

a) i) Show that standard deviation will be
minimum when measured about

arithmetic mean.

@8 @ ANS Al W= 4Ny g I
afafes v (U Ao T3 @

i1) The mean and standard deviation of 87
observations were found to be 53 and
9.7 respectively. If the observations 47,
64 and 69 are omitted from the given
87 observations, find the mean and
standard deviation of the remaining 84

observations. 6+6=12
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b) i)

87 e (FGL AT ¢ TN AL 2w
TGN 53 G3R 9.7 | @ne 87-0 M (S
47, 64 € 69 «3 fouls W I Im e
T OiEE IS 84 WU AT Gk WS
AL W T FA

State and prove the important properties

of the regression coefficient.

Re3m it wwesyl wiefl Rge 37 9=k
2l 9|

Two regression coefficients can not be

of opposite signs — why?  10+2=12

7 S wditsa B s [Reide zre
AT a1 - (42

¢) What do you understand by skewness of a

distribution? Find Bowley's co-efficient of

skewness from the following distribution.

o Rewmms dsel wme o & @Rz Sioe
ffelem (A Bowley'd medl fodaor 7oz

GRS
Class Interval: {5-9{10-14|15-19{20-24 | 25-29(30-34{ 35-39|40-44
M A
Frequency : 9 41 20 251 15 8 4
IR
' 2+10=12
31/Eco. [5] [Turn over]

d)
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Prove that —1<rg,, <1 where r,_ is
the Spearman rank correlation

coefficient (in case of no tie)

WY 9 —-1<g,, 1 QA r, 2
Spearman 93 rank ®feid Wy TS woiE
(tie TR N 93 TN CF(E)
What is a rank correlation co-efficient?
Show that in case of perfect
disagreement of ranks, the value of
Spearman's rank correlation coefficient
(ry) will be equal to 1.

6+(2+4)=12

NFRNE FA2AE BE A7 (e @ AN
TR N o S U Spearman'-9¥
TR TRANED () T -1 L
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SECOND HALF
(Indian Economics)

(Marks : 50)

Answer any four questions from the following:

2x4=8

AdE @@ HED 2es Ted wie ¢

a)

b)

31/Eco.

Why is new technology in agriculture called

scale neutral?

IRT T W& (@9 e R @i e
What do you mean by co-operative farming?
AR BE @i [ @i

What is ‘the difference between marketable

~surplus and marketed surplus?

Ry g6 ¢ Kfle Tgren Wy Ny (e
When MRTP act has been put into action?

- MRTP Si%H $© Hits1 blej &2

Mention two functions of IDBIL

IDBI-43 751 <& (=12 |

How would you define a small scale Industry?
FOeq i wice & @R

1Al
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5. Answer any three questions from the following:

6x3=18

A7 @@ =G ez Tex wis ¢

2)

b)

d)

31/Eco.

What is green revolution? Write down the
economic effects of it. 2+4=6
e [Re] e 93 wftifes waeetaf @
What are the problems in estimating national
income in India? What is the problem of
double counting? 4+2=6
RS W W AN v wehief
T2 q@I7 a9 FPp 2
Briefly discuss the role of small and cottage
industry for economic development in India.
oRe Sdifes TR FY € Foi7 M g
REFC? DS 291
What do you mean by W.T.0? State the
major impact of GATT on agriculture.
2+4=6
W.T.0 %2 GATT agriculture-s &#% &
gorRafE @ |

Mention the causes of inequalities in income

distribution in India. What steps are taken by
Government for reducing Income inequality?
4+2=6
SRST W 3B (IR FRevefe T 91 @]
W A ARSI JRe gaRiefE e

[8]
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6. Answer any two questions from the following:

12x2=24

N7 @@ o aoiw Teg WS ¢

a)

b)
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Briefly describe the new Industrial policy of
1991 in India. What are the important features
of this policy? What is MRTP?

6+4+2=12
oRTed 1991 A i Maaifelt Fkeweel a9
32| 3 Tfen wresd RFAPeE & 2 MRTP
2
What is disguised Unemployment? Discuss the
nature and magnitude of Unemployment in
India and programmes have been launched to
reduce it. 2+10=12

BEEFIT FE A? OGS ((FIAeT aFe 8

AT DN F9 GR (KFE AP FAEE &0
TS (@ Y W (19T AT O I T
What are the sources of Employment for rural
people? Write brief note on following
employment programmes:
IRDP, TRYSEM, NREP, JRY.
2+(4x21)=12
a1 SRR Seorafel & 52 IRDP, TRYSEM,
NREP @3 JRY '5f6 FPRyg-Eee S9! 79
HACHCA (@19
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